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PREVIEW QUESTION BANK(Dual)

Module Name : EARTH ATMOSPHERIC OCEAN AND PLANETARY SCIENCES - 702
Exam Date : 02-Mar-2025 Batch : 09:00-12:00

I\Slg Client ;QDu estion Question Body and Alternatives Marks

Objective Question
1 705101 2.0
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Objective Question

2 705102 2.0
Cube root of 0.0125% is closest to

0.005%

0.05%

0.5%

5%

.0125% T uaAHqeT fehaeh fAheaa grem
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Objective Question
3 705103
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Objective Question
4 705104
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2.0

How many 5-digit numbers, using 0 to 9, can be generated such that ‘123’
appears as a string and no digit appears more than once?

5-31ehl & fohclell HEATT, 0 § 9 o & 3ihi 1 TANRT e, Fiold I ST Hebll
¢ s 123 v JEanr® T AR FS off 37 v ax ¥ JfUw 7 e

2.0
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The diagrams show two orientations of a die having numbers 1 to 6 written on
different faces. The number on the face opposite the face showing 3

is 2
is1
is 6

cannot be determined from the given data

PN =

A Rw Iv g A v @ & o Aeaw twd a1 § foas [Affea gagt
W1 &6 dFh $r g fod 715 & g 3 & welRia &=« arell adg &
A fauda fear &7 =ia & g&=r &

1. 2

2. 1

3. B

4. U v s @ AURT a8 & a&dr
1
2
3

Objective Question

5 705105 2.0
There are four containers of equal height, whose bases are a circle, a square, a
rectangle and an equilateral triangle having the same area. Which one of the
following statements about these containers is true?

1. Their volumes are equal.

2.  Volume of the rectangular container is larger than that of the square
container.

3. Volume of the triangular container is smaller than that of the square
container.

4. Volume of the square container is larger than that of the circular container.
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W 3915 & W IR U9 § [Fd6 3R @R, TR, FTTRR AR
THaTg PR & o7 35 S off FA 81 31 9 % R A orwfataa
H @ Pl G FUF GF 87

1. 3T HEAA T &

2. AR U H AEAS SR 99 & HAGT § A0 &
3. ISR 9 #T HIAA, ER U & HAGT § FA ¢
4. FEHR G F HAAA, JARR UH & 70T & AF §

Objective Question
6 705106 2.0

The diagrams show the rates of diamond and emerald in a range of sizes. A
person wants to buy a diamond and an emerald of identical size for a total of
Rs.6,75,000/-. What is that size?

= 5T = 25 T

© £

ST 8w

£ 3+ & 15 4

i §

ﬁ 2 b :r'aF 1 =

¥ 1+ g 05+

a0 : : . ; i & 0 i : : ; |
0 0.5 1 1.5 2 2.5 0 0.5 1 1.5 2 25

Weight of diamond (carat) Weight of emerald (carat)

1.  1carat

2. 1.5 carat

3. 2carat

4. 2.5carat
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A Re o o 7 Y 3k o= F Rfees smert & o wefta & 718 2
U i Hel %. 6,75,000/- F HA THR H Th ERT IR T Towll TS
WEAT ¢ TF HHR FAT FIE?

= 5 = 25 T
0 ©
B 5T g 2 =
& 3% e 15 +
= o
2 27 5 1y
E 1< E’ 0.5 4
£ 0 : : : } | = 0 : I : : :
0 0.5 1 1s ) 2.5 0 0.5 1 1.5 2, 2.5
Weight of diamond (carat) Weight of emerald (carat)
i 1 carat
2. 1.5 carat
3. 2 carat
4. 2.5 carat
Al
1
A2,
2
A3
3
Aty

Objective Question
7 705107 2.0
If A is B’s daughter, B is C’s brother and D is C’s father, then what is A to D?

Grandfather
Grandmother
Grandson
Granddaughter

PN~

IfE A BH g 8;B, C # a3 ¥ 3R D, C&r far & af A, DFHI/Hr Hid

5433

Al

1
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Objective Question
8 705108

1
2.
3
4

A4

Objective Question
9 705109

o L

120
240
360
480

14 km
16 km
24 km
30 km

2 Live_Earth_2mar_E_1-150.html

T T g T Pt el @S ST W
1. 120

2. 240

3. 360

4, 480

1
A2 5
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2.0

A block of marble 4 m x 3 m x 2 m in size is cut into square tiles of 1 m side
having thickness of 10 cm. Assuming there is no wastage in cutting, how many
tiles will be made?

T 4 HIeT x 3 HIeT x 2 AT 3R F TIFEHAT solish HT 10 THT ACTS arer 1
AT o1 F TSN 3ol H FHIeT AT TE AT §T R HEHT F SR P

2.0

A lady walks one-tenth of the total distance at 3 km/h, one-sixth she runs at
5 km/h, one-fifth at 6 km/h, and covers the remaining 16 km at 16 km/h by cycle.
What is the total distance?
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v Afger Fot gt 1 1/10 w7 3 forsdi/eer #r afd & Tt a7 AT 8, 1/6
AT @ a8 5 ferri/eer q2r 1/5 et &t 6 frager @ afa ¥ glset For AW
16 foralt &1 g @1 16 forsli/eer i T ¥ dRfha & 7 T &l 38F @l

T L Fel g FAT 7
1. 14 &
2 16 T&FaT
3. 24 AT
4. 30 Y
Al

1
A2,

2
A3 3

3

Objective Question

10 ||705110 2.0
An OTP is made of six digits using 0 to 9. If three digits and their positions are

known, what is the probability (in percentage) of discovering the full pin within

100 trials?
1. 10%
2. 20%
3. 30%
4. 40%

T G-3RI T 0 T 9 3 & UAET ¥ F4137 7147 2 Ife AT 3F
AR 3R TR e & ar 100 Taet & 37 3T & O e & Iar Fat

Hr WIfAehar F47 Beir?
1. 10%
2. 20%
3. 30%
4. 40%
"
1
2
3
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Objective Question
11 705111 . ) . ] 2.0
Ramesh is taller than Rajesh but not taller than Rupesh. Suresh’s height is the

average of the heights of Naresh and Rajesh. If Rajesh is taller than Naresh then
who is the shortest among them?

Suresh
Naresh
Rupesh

P R N =k

Cannot be determined

T, FAS H U § AE o § olfehe] TUA W ST AGT g1 G H FAS
AT 3T e Fr HET TR & ST g1 I TS, A ¥ AHEE oer @
ar §99 BT FiT 72

1. girer
2. T
3. ®9r

4, fAUROT 7@ FAT AT GehaT

Al
1
A2,
2
A3 3
3
Ay
4
Objective Question
12 1705112 i i i i ) 2.0
The value of (1 - 2025) (1- 2024)(1- 2023)...(1- 20m)ls
1. (= %)
2 - i)
3 {1-2)
4 (1- )
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Objective Question
13 705113

1.

2.
3
4.

Objective Question
14 705114
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) (1- ——)(1- =)...(1- ) FHAAE

2025 2024 2023 2001
1
(1- =)
1
(= =)
: |
s )
1
e

90 cm?
100 em?
110 cm?

120 cm?

TH HHAGIS I SThe g
1. 90 I @AY
2. 100 9 @AY
3. 110 391 3=
4. 120391 T
Al

1
A2 5

2
A3 3

3
M
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2.0

One side and one diagonal of a rhombus are 13 cm and 24 cm, respectively.
Then the area of the rhombus is

TF FHAJHS P UF o AR T Gt w13 W A 24 S A

2.0
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Two fair dice are thrown at random independently. What is the probability that
the average of the values on their upper faces is 4?7

1. 5/36
2. 1/6
3. 7/36
4. 2/9

gl fAsqer aral #F AgRew v oA ¥ W B AAT| 3% I HAE F
AT AT & 4 BT & OIS ar F4r 2en?

1. 5/36
2. 1/6
3. 7136
4. 2/9

1

2

3

Objective Question
15 705115 . . ) . 2.0
The square of the geometric mean of two positive integers is 30. The smallest

possible sum of the two integers is

1. 10
2: M
2. 13
4. 17

ar UATcHe qUIThT & I0Nca ATET &M F97 30 g1 37 a1 Uil T WAl

eladH =lelthel T GIRM?

1. 10
2 M
3 13
4. 17
1
2
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Objective Question
16 705116 2.0
An electric heater uses approximately 1 KWH for increasing temperature of 1 L
water by 1°C. If the heating element has a rating of 10 KW, what is the time
taken to raise the temperature of 1 L water by 1 °C?
1 1 hour
2 15 mins
3. 10 mins
4 6 mins
T Iolfaes giet, 1 e Ul &7 JgA 1°C 9o & [T oo 1 KWH
farsrel 1 39T Far g1 A swe e velde v WEr 10Kw 7 ar 1
e Ul & A 1 °C Fe F O fFaar gay seen?
1 1 €T
2. 15f@=c
3. 10f@=c
4, 6 f@Aac
M
1
"
2
"
3
M
4
Objective Question
17 705117 2.0
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An experiment has collected data in some units which is presented in the below
X-Y graph.
1.04
¥
sl ° 2
-|I||||2I|||.3| 4 'é ';'.EI;I
-0.5 " X

What would be the best function to fit the data? (for some positive constant k)

1. Y =cos [kX]
2. Y =sin[kX?
3. Y =tan [kX]

4. Y=ex coskX]

T AT H FO SHEAT H HHs] B Hebiold Heh A [GU T X-Y AR H

wEgd fopar T &
1.0
. Y
o5 ° ' =
1 : 2 3 5 4 '.;") 5 B
-0.5_ P - X

TS FT 2FH e A F T T T1 T (FFerET) Tafeam gEm?
(PT FhRIcHS [E2Th k & forv)

1. Y =cos [kX]
2. Y =sin [kX?]
3. Y =tan[kX?]

4. Y=e& cos[kX]

Al
1

2

A2
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Objective Question
18 705118 2.0

Ten litre (L) milk contains 10% water. How much water should be added to
increase its proportion to 20%?

1 TL
2. 125L
3. 2L
4. 2251
oH olIeT U # 10% U g1 Ul % U F 20% I do & fov 3@H
fhraeT 9T e u2em?
1. 19
2. 12530
3. 2%
4. 225%0
1
2
3
4

Objective Question
19 705119 ] ] : ] 2.0
If Asha’'s mother is Tanisha’s daughter's aunt and Tanisha has no nephew, then

Asha is Tanisha's

mother

niece

grand mother
sister

ol

afg smem v A eftem & T Fr =@ § R T & FS oxcden @ F A
T FATe &r T 22

ﬂ%%ﬂc
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Objective Question
20 705120

B LN =

B

Objective Question
21 707101

20
19
18
10

20
19
18
10
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2.0

A chocolate bar of 5 cm length and 4 cm width has to be cutinto 1 cm x 1 cm
pieces. How many minimum cuts would be required, if pieces are to be taken
one-by-one? (One can start by cutting along either length or width, before

removing 1 cm x 1 cm pieces one by one)

58T oIaTs AT 4 WA WSS F TH dicholc A F 1 WA < 1 W F gt A
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The average plate velocities of the Indian and African plates in the
International Terrestrial Reference Frame (ITRF) are measured to be 5
cm/yr and 2.5 cm/yr to the NE, respectively. This results in a

plate boundary between the two plates.

1. convergent

2. divergent

3. sinistral strike slip
4. dextral strike slip

FRTET TS Tesl e (ITRF) F 3.9, F 3R aRAT v 31fpepet
Tl dT 3Ea cele AfaAT FAR: 5 emlyr Td 2.5 cmlyr g1 ar Tolel &

dg I§ U Tl TAT grei
1. faay
2. 3odnr
3. grATad ATddd guor
4. cf&omaa afaes aaor
Al
1
A2,
2
A3 5
3
Ay
4
Objective Question
22 1707102 2.0

Which one of the following mineral assemblages for a mafic bulk
composition represents characteristic Ultra High Pressure (UHP)
metamorphism?

Garnet + Omphacite + Coesite + Rutile

Hornblende + Plagioclase + Garnet + Quartz

Chlorite + Actinolite + Epidote + Quartz + Albite

Glaucophane + Lawsonite + Quartz + Garnet + Na-clinopyroxene

ol ol
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T Afhd di TWar & AT 597 @ Fia v wlas g 3ifa ==
g (UHP) FramareT 3ifereretor &1 giafafdca #ar 82

1. AREAC + NFEFASE + HITHISC + LTS

gleTeelS + TolToT3iieFelat + IReIC + FdIco

FARTSE + UTFcaAToSe + TUISIE + Fdlca] + UedlSe

oW N

AN LY L hY LN S (T
dell3ehIthed + IdHIATSC + FdCo] + d[IiAC + Na—d'ﬂl$a-ll'4l${lld'~l-lo-l

Objective Question
23 707103 2.0

What is the significance of the Ediacaran period in the Earth’s history?

1. It marks the beginning of the Paleozoic Era.

2. ltis known for rapid diversification of mammals.

3. ltis characterized by the appearance of complex multicellular life.
4. It marks the period of the largest mass extinction.

g2l & STAe H TISATSHI el T FAT Hged &7

1. 7 dfoisiss W T s A Rfeed wXar B

2. Ig TIURET & g fafaefietor & faw S=r Sar gl

3. IF e SgeIfRIha Siidl & 37 g ifeefard fhar S g
4. Jg 999 93 A@FfeH fddid garT Rfeed & S g

Objective Question
24 707104 2.0
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In which one of the following framework silicates, two Si atoms out of
every four tetrahedra are replaced by two Al atoms?

Natrolite
Coesite
Anorthite

. Nepheline

o I BHIS Afehe Wiasl H ¥ 8 v # IR TqSHelhl & al
SiavlaﬁwqﬁFWﬁAlyvgﬁaﬁmaTW?

> wN o

1. Agese
2. @lvgrsc
3. TSATAEe
4. StholleT

Al
fxz
A3
A4

Objective Question
25 707105 2.0

The Titus-Bode law In the following form gives approximate distance of
each planet from the Sun in astronomical unit:

Distance =04 + 0.3 x 27

For Mercury, the value of nis —. What should be value of n for Venus
and Mars, respectively?

0

BWN =
-D‘.D:-.A_‘
WN N =
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fev I Trsea-ars oA @oel s gt & [ @ 7gl T A gl
gdolTdar § -

g =04+03x2

g & [T n o AT - g1 Ah T HA & @€ nd AT HAM

A WN =
=R e
W NN =

Objective Question
26 |707106 ] _ ) ) 2.0
A syncline is defined on the basis of fold

1. vergence
2. closure
3. facing
4. interlimb angle
uh SfEATT Fr Jol garT uRenf¥a fFar rar g
1. gfa
2. HHAYA
3. fafeem
4. 3TTRTERT HIoT
Ay
1
A2
2

A3
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Objective Question

27 707107 2.0

Phase equilibria diagram of a metamorphic rock is calculated within the
CaO-FeO-MgO-Al,0s-Si0, (CFMAS) system. For a particular
assemblage, its stability can be ensured by changing P & T

Independently. How many phases are present in that particular
assemblage?

Two
Three
Four
Five

il < e

Teh HRATARA Aol & TROT Told IRG H 06T CaO-FeO-MgO-
Al;0:-Si0O> (CFMAS) YoTell & 3fdeld I Jrar gl fordr v fafRse
TIE & foIv sga ERdr &1 g U9 di9dAT & Tadd &9 & g6 a1
AT fohar ST Fehem &1 38 fAfIse Hag & fhdel wRoT 3uferd

87

1. ar
2. de
3. TR
4. 9=

:A 1
A2
f“
A4

Objective Question

28 707108 2.0

The meteorite group that most closely resembles the solar composition

IS

1. CV Chondrite
2. CIl Chondrite
3. EH Chondrite
4. EL Chondrite
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Objective Question
29 707109 2.0

Which one of the following correctly depicts the vertical distribution of
groundwater with increasing depth?

1. Capillary zone — Soil water zone — Immediate vadose zone —
Zone of saturation

2. Soil water zone — Capillary zone — Immediate vadose zone —
Zone of saturation

3. Zone of saturation — Capillary zone — Soil water zone —
Immediate vadose zone

4. Soll water zone — Immediate vadose zone — Capillary zone —
Zone of saturation

SAH H Pld TH Fadl TS & Y H{olol & (a0 H HEl ¥ F

GRITT &7

1. $RIFT & — FHeT Sief & — AT e sl — HJoddr #
CE]

2. FGT Sfel &1 —> hi”Iehl &7 — FAT Usld Siel — HJeadr @1
SE)

3. HJTAdl 1 &F — FRIST &7 > HAT ST &7 — FAT el
et

4. #HeT ool 81T — FAIT USHIHA STel— HiRIPpT & > ol
GE]
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Objective Question

Objective Question

Al

1
A2,

2
A3 3

3
Ay

4

2.0
After four half-lives of decay, the abundance ratio of radioactive parent
isotope to stable daughter isotope is
1. Az ¥
2. 18
3 1.1
1 1:16
&T % X -3 & IR WSAHA! o FaEeaea ¥ R
[TcsT 3caic GHTAT IR T dgoidr ol Eoeic JEI
o }

1. 123
2. 1°8
3 1:15
4. 116
Al

1
A2 5

2
A3 3

3
Aty

4

2.0

Longshore drifts along a coast are caused by

waves
currents
tides
winds

e N =
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Objective Question
32 707112

2.0

Which one of the following is NOT associated with emerging Coasts?

1. Prograding beaches

2. Widening of coastal salt marshes on mangrove swamps

3. Inundation of shore platforms

4. Shallowing of coastal lagoons

IeHeoll dc Y@T & T 578 T Pid Ush Taiad el aidr g7

1. AT gfe

2. IS 3T W dC W Sd0T =S H [GEART]

3. dc dal & Selcelrasd

4. TET ATET F B gl

Al
1

A2,
2

i
3

Ay
4

Objective Question
33 707113 2.0
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Entrainment and transport of fine sediments from a source deposit by
wind action is known as

1. deflation
2. exhumation
3. degradation
4. dilatation

a1y T 2aRT Ush EEId & FEH Jadrel H Hgudle Td TEIe

Fed gl
1. HAYdiged
2 FHATIIOT
3 delldddd
4. TSTHEROT
Al
1
A2,
2
A3
3
Ay
4
Objective Question
34 707114 2.0

Which one of the following sand dunes does NOT form around, behind
or in front of an obstacle, such as a hill or vegetation?

Topographic
Obstacle
Transverse
Climbing

ZAH H Pled Teh dTe] feeal U 37a1y, 918 & Ueh UgIe 3uar aaA€9d,
¥ IRT 3R, I J7 3, AE IAT &2

o 0 R =

1. TreTpId
2. 37Uy
3. 31?:|3W2T
4. IR

Al
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Objective Question
35 707115 2.0

Satellite based sea-level altimetry started in 1992. How much has the
average global sea level risen since then?

1. =8em
2. 8-9cm
3. 9-10cm
4. >10cm
3T AR HHAG-TT JITATATTRT BT AESTT 1992 H g51 a9 &
e S BCIECER HﬁqcﬂﬂT%dﬁ|q¢ﬁ
1. <8cm
2. 8-9cm
3. 9-10cm
4. >10cm
Al
1
A2,
2
A3 5
3

A4

Objective Question
36 ||707116 2.0

Which one of the following is the correct sequence of increasing stability
of soil minerals with increasing mean annual precipitation?

gypsum, calcite, smectite, kaolinite
gypsum, calcite, kaolinite, smectite
calcite, gypsum, kaolinite, smectite
calcite, gypsum, smectite, kaolinite

i 100 TN =
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9ed §U A N U F WY $AH § FlA Th FAT @Al
9ed Tedl T HEl FA 7

1. S@H, Fouee, TAaese, S3ifaase
2. foog#H, Fegrse, H3nfaase, Thsese
3. Sogse, oogH, H3nfoase, THaese
4. SFegrse, g, TATese, Hxifaase

Objective Question

2.0
The air temperature and the dew point temperature inside a room are

equal. Relative Humidity of air in the room is

0 %

50 %
75 %
100 %

el ey

Uh Al H arg ATIAT TUq 3G dI9HAT e g1 FAL H arg &I

TdeT AT gl

0%

50 %
75 %
100 %

LR o

Objective Question

2.0
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Which one of the following statements is FALSE for the positive phase
of Indian Ocean Dipole (I0D)?

SST anomaly is positive over the eastern Indian Ocean.
SST anomaly is negative over the eastern Indian Ocean.
Monsoon activity increases over India.

Cyclonic activity increases over the Indian Ocean.

e i [ =

fgre HEPR &fagd (I0D) & UalcA® WO F T gad Fld wh
hUA HT TRl &7

1. Tgeddr (SST) fagerfa qdf ffeg AR & IR adlcAsh &l
2. SSTfaEd qdf g FEENR & FW HONHF ¢l

3. #Rd & FN ATH AAGrT J&ar ¢l

4. f@ec FASEPR & FUT Idohdld IfATArer dedrl o

Objective Question
39 707119 2.0

Which one of the following sets of species categories is collectively
called “threatened species”, according to the International Union for
Conservation of Nature (IUCN) Red List?

Extinct in the wild — Critically endangered — Endangered
Extinct in the wild — Critically endangered — Vulnerable
Critically endangered — Endangered —Vulnerable
Endangered — Vulnerable — Near threatened

0 P ek
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uhfd & E@EOT & fAav FAaedT AT (IUCN) & e g2t (38
foree) & 3TAR 5ad @ FloT Tk TARMST & FH=TT & I T “HeheIEd
TaefreT gr Sreen?

1. Sierel # faeed — M Fheard — Fehe I

2. Sierel # faered — iR Feheared — sifcedeeTeirer
3. R Heheard — Haheaed — ifa@dcasier

4. TFHeIEd — AfaTdeANT — Hhe & e

Al
A2
A3
A4

Objective Question
40 707120 2.0

Which among the following sensors is ideal to detect daily stubble
burning close to real time?

1. OLl
2. VIIRS
3. AVHRR
4. MSI

grEdides T & [oche &fodeh WIell Ggal @ Ual Hdad & [olT SoT
Hdcehl H Pld Th 3G &7

1. OLlI
2. VIIRS
3. AVHRR
4 MSI
Al
1
A2,
2
A3 5
3
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Objective Question
41 707121 2.0

The declination of the Earth’s magnetic field

1. s zero at the equator and increases towards the poles

2. iIs zero at the equator and increases towards the north pole and
decreases towards the south pole

3. is maximum at the equator and decreases towards the poles

4. shows a random variation with latitude and longitude

t‘{zﬁra:gamaﬁw%?qm

1. faYad W g vF ygat M WE Fear|

2. Ta¥ad W =g, 3call ¢ 1 RE 990 Td afaol ga H RE
I

3. fayad WX 3Tad# §eT T4 ¢al H R eI

4. 3767 UF ST F A1 FAMAT oRada femrem

Objective Question
42 707122 2.0

The dimensions of stress and strain are , respectively.

1. M'L'T2andL®
2. ML'T?andl®
3. M'L"TZ2andL’
4. M'L'TZ?andL®

afdae v fasfa & 3 & 2l
1. MIL'T2aernL®
2. M'L'T2garlL°
3. MLE'TZ2a9mL!
4. ML T 2qarl?

Al

1
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Objective Question

2.0
In which one of the following pairs of cities, the difference in their Earth’s

gravity fields is the minimum?

1.  Sydney and Colombo

2. Colombo and New Delhi
3. New Delhi and Islamabad
4. Islamabad and Sydney

feT aTT T & FIAT H @ Rl T JIA H ol A & o gl F
ﬂmm*mﬁrwam{ for=Tad grem?

1. T8SAT U9 Frersdl

2. SiclFar Td s ool
3. % ool wd sEonAEg
4. TTAHAEG T fAEr

Ad

Objective Question

2.0
Which one of the following is strongly magnetic?
Hematite
Galena
Pyrrhotite
Pyrite

e 08 [ =
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%ﬁyﬁﬁﬁawwﬂaﬁ'aﬁ?

If the Earth were to rotate about its axis with half its present speed and
its distance from the Sun remains the same, the length of the year would

be
1. 365days
2. 365V2 days
3. 730days
4. 183 days
Il godl 39N g8 W 39 IAA I & 37 T @ g5 v g
¥ gHH gl IARAfdd @, a9 UF a¥ f&eT gremi
1. 365
2. 365V2
3. 730
4. 183
ALy
1
A2,
2
i
3
Ay

~ KN

gHCIST
Bl

grelicrse
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In the Earth, from surface to the core, the maximum P wave acoustic
Impedance contrast is observed across

1. Crust - Mantle boundary

2. Lithosphere - Asthenosphere boundary
3. Mantle - Core boundary

4. OQuter Core - Inner core boundary

el H, §dg ¥ HIS T, 3TadHA P @ eafeAs ufderer fasig &
& I uferg fRar Srar g

1. 9YSr - YraR AT

2. “2olHUSe - %élﬂdl HUSH
3. YER - i °AT
4. TIET FIE - JdRE hig AT

Objective Question
47 707127 \ _ ) _ 20
The amplitudes of ground motion at an epicentral distance of 100 km

due to earthquakes of magnitude 2 and 4 are in the ratio

1 56

2. 1210

3. 1:100

4. 1:1000

giXATT 2 9 4 & 8-‘1;\$CI°I & FROT 100 km & 3uRFeg @ Oy Tl
afad & ATAT FT7 379979 gram|

= 1A

2. 1T:10

3 1:100

4. 1:1000
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Objective Question
48 1707128 2.0

If both the Lame’s parameters of a Poisson solid are doubled, then its
Poisson’s ratio would

quadruple

double

remain unchanged
4. reduce by half

afe disEl 31F & alal o & Ul A aANET B AT S, dd dgEt

e

T 3-1?_-|D'EI'|¢,_-|' gl |
1 9
2 2
3. T9aT Jeel a1 I
4. 3T FHH
Al
1
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2
A3 3
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Objective Question
49 1707129 2.0

Which terrestrial planet has the lowest average density?
Mercury
Venus

Earth
Mars

o
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Objective Question
50 707130 i . . ) ] ] 2.0
Which one of the following represents the arrival times of seismic waves

in ascending order?

1. longitudinal, transverse, surface
2. surface, transverse, longitudinal
3. longitudinal, surface, transverse
4. transverse, longitudinal, surface

SH ¥ @i U, ofFIT N & ARG FH H NEHA FAAT H
gfafafdica &ear 82

1. 3, 3TTVE, TR
2. g, 3T, 31@'&&1‘{
3. 3eced, HAE, 3TIE
4. 3T, 3wy, g

Objective Question
51 707131 2.0
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Warmer air temperature over the inner core of a tropical cyclone (warm
core) can be explained for an ideal  atmosphere
using balance.

1. geostrophic

2. hydrostatic

3. gradient wind

4. cyclostrophic wind

Uh 3 dPHSH & foIv Uk IsUhieaed Tehdld (3507 #IS) &

aidﬁqnqn‘lsé:jmwa@rmaﬁ '\Eigﬂ?rwzvqmw

FY EV SAEIT AT ST Hehel ¢
1. syfaardy
CERRIRED
Waﬁg

2.
o
4. TFHITIF arg

Objective Question

2.0
Pressure gradient force per unit mass required to maintain a geostrophic

wind speed of 10 m/s at 45°N is . (Given the earth’s
angular speed is 7.3 x 10 radian s")

1. 0.1 ms?kg™

2. 0.0001 ms?kg™

3. 0.001 ms?kg™

4. 1ms?kg’
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Objective Question
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Teh 45°N 9T 10 m/s s{fdaidl gael 1t &1 3HeIT&T0T &l o oI 37ufer
gIRI| (gedT T ol arfd

gfa S gId vguTdaT ae
7.3 x 10° radian s fear aram 8)

1. 0.1 ms?kg™
2. 0.0001 ms?kg!
3. 0.001 ms?kg™!
4. 1ms?kg’
Al
1
A2,
2
i
3

Ay

4

What is the approximate magnitude of surface ocean current in mid-
latitudes where the sea surface height varies 1 m over 100 km?

1 m/s
1 cm/s
10 m/s

1.
2.
3.
4. 10 cm/s

T 38T A ST8T 99K 8dg 3=94r 100 km 9¥ 1 m gcodr g, 9dg

1 1 m/s
2. 1cml/s
3. 10 m/s
4. 10 cm/s
Al
1
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2
A3 5
3
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If the air temperature at the surface level is 31°C and the Environmental
Lapse Rate (ERL) is 6.5°C/km, what is the altitude of the Level of Free
Convection (LFC) if the parcel temperature equals 18°C at LFC?

1.5 km
3.0 km
2.0 km
5.0 km

HAE T W Iie a1 A9ATH 31°C Td GATeRoT g6 &X (ERL) 6.5°C/km
g1 Ife Taad Tdead & TR (LFC) W WS aradAeT 18°C §, LFC &#r

i G TN o

1. 1.5km
2. 3.0km
3. 20km
4. 50km
Al
1
A2,
2
A3 3
3
Ay
4
Objective Question
55 1707135 2.0
Level of neutral buoyancy is associated with of a
cumulonimbus cloud.
1. base
2. level of entrainment
3. top
4. mid-level detrainment
T FUET I8 AT F v 3T 3cTardaddr 1 TR &
Ty gaTad giar gl
1. dol
2. EGYT (VoAcdAHe) &l X
3. fRrex

4. FY-TR f-Tg0T (SeaHe)
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Objective Question
56 707136 2.0

What role do polar stratospheric clouds (PSCs) play in ozone depletion?

1. They directly release ozone-depleting substances.

2. They enhance the production of reactive nitrogen species in the

stratosphere.

They block sunlight, reducing UV-driven ozone destruction.

4. They facilitate chemical reactions that release chlorine from
reservoir compounds.

3Gl 8 H Yy @A #sol #° (PSC) T sffAen fovsd 87

1. g HIe 3l 37aerd gere saqed ad &

2. dg GAJY A # Thameiier AEciald Ualiadl & 3cdieed F daTd
gl

3. g% T & UHRI & Ub wT F dr (UV) URd 3l fa=mer &
HH I 8l

4. gg 31 AT BRI A GIHA ToAld © i FIHT & 675K
T FoRIT 38l ad &l

“

f\l
fA2
§A3
:A4

Objective Question
57 707137 2.0
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3.
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4

M

|

A2,

The eye of a tropical cyclone is a region of

2 Live_Earth_2mar_E_1-150.html

there would be less wind gusts

the air density would be lower

the air density would be higher

the aircraft encounters less air turbulence.

FROT T ST I TIT FLIM?

1. & a4l & Sl

2 SH drg Helcd

3. 3% 9y udicd

4. SiETS # Ay faEisT @ HH A

iIsothermal expansion
adiabatic compression
iIsothermal compression
adiabatic expansion

30T SHicaefl T Ihald T a7 T &7 giar gl

HAAdlY HAIY
FeersH gdis
AT s
eeRsA gar
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Objective Question
59 707139 2.0

Thunderstorm formation is associated with

1. high convective inhibition energy

2. inversion within planetary boundary layer

3. high convective available potential energy

4. low equivalent potential temperature at surface

afea stem &1 f[Amor & grer gafed giar g
1. 3T9g Hdgal HGHd ol

2. I8 AT T H e ch O

3. 3T Hdgdl 3udey T&Afder Faul

4

Wwﬁmgw‘i:@&lﬁa GIEEIGE

{\1
fA2
§A3
‘A4

Objective Question
60 707140 2.0

Keeping pressure constant, if the volume of an ideal gas at 30°C is to
be doubled, what would be its temperature?

320°C
333°C
327°C
325°C

il Sl
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forar ST, SFT dr9HATT ohder BIET?

320°C
333°C
327°C
2200

o 0 P et

Objective Question
61 707141 2.0

What would be the thickness of sediments on seafloor at a place 200
km away from a spreading center where seafloor was spreading at 4
cm/yr, and assuming a sedimentation rate of 5 cm/10% yr?

1. 500 m
2. 250m
3. 2500 m
4. 200m

Teh TEROT Fog STeT PR I 4 cm/yr & & 8 980T X g7 o7 U9

AT forar S &6 3raarea aX 5 ecm/103yr 27| IR ddl & 38 980T
%eg & 200 km HT g W 37GEIE H ACS Tt gram?

500 m
250 m
2500 m
200 m

s s
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Objective Question
62 707142 . ) o . . 2.0
The global latitudinal pattern of sea surface salinity is mainly controlled
by
1. sea surface temperature variability
2. ocean upwelling
3. variability in the input of river water
4. variation in the extent of evaporation/precipitation

HPR §g Ul & dfRge el Fawd gHE ®9 ¥

ganr ferafaa forar rar g1

1. ¥PR 9dg d9AT IRdded

2. TP 3c&Fdul

3. 4T ST AR H gRaad

4. TSUA/EYOT & gRAOT #H gRaded

Objective Question
63 707143 2.0

In an oceanic area, if precipitation increases then the winter convection
iInduced seawater mixing will

iIncrease
decrease

remain unaffected
cease

e e o
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Objective Question
64 707144 2.0

The Chrysophytes or golden-brown algae make their cell structure
using

1. calcium carbonate

2. golden sand

3. dissolved silicon

4. brown-coloured dissolved organics

SHISATRISET IT EIOT-8X7 AdTel T 3GART FIb AT
SHITIRT el dallel 2l

1. Sfes FEiae

2. TGO &I

3. gor fafoel

4. U gl Fafaren AlfTent

Objective Question
65 707145 2.0

The shelled pteropods in the ocean spend

all their life time in water column

part of their life in sediment

part of their life as a symbiont with other planktonic organisms
complete life in sediment

A
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Objective Question
66 707146 2.0

A water sample has 20 g/kg salt. What would be the salt concentration
of this water after 20% evaporation?

20 g/kg
24 g/kg
25 g/kg
30 g/kg

o 0 O o=

Uh ofel UT6T o 91F 20 g/kg &1a9T g1 20% arsad & oG 39 ol H

1. 20 g/kg
2. 24 g/kg
3. 25g/kg
4. 30 g/kg
Al
1
A2,
2
A3 3
3
Ay
4
Objective Question
67 707147 2.0
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Which one of the following is the major cause of change in ocean
alkalinity?

1. Photosynthesis

2. CO2 gain from atmosphere
3. CaCO:s precipitation

4. Respiration

SIH U Pl Teh TR &IRAT & deaid &f HEY FROT &

1. Tehrel TReNOT

2. argHse & CO, 1 wifee
3. CaCO; 3/aaqor

4. T gfehar

Objective Question

68 707148 2.0

The sequence of precipitation of minerals during evaporation of the
seawater is mainly controlled by the

abundance of cation and anions of the minerals
charges of cation and anions

size of cation and anion

solubility of minerals

HER Sl & drUsA o SR Wil & HG&eT & HH HEIA]
garr fAafa fear rar g

Gt IS =S

1. @il & YU TF KOMTT T TRl

2. ATI U9 RO & 37aer
3. o U9 HOMIT & 3R
4. @iSt &1 gofel =frerar
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Objective Question
69 707149 2.0

A signal from an echosounder of speed v m/s is received from deep
ocean after t seconds. How deep is the ocean?

1. %t M

2. Eim
2

3. 2oEm

4. “m

4

Teh e HHG; H v giaedfa-eafead @ vm/s &7 obd t s & dlg
"Icd §IaT &1 @He @ TeNrs fohksll &7

vt m

Zm
2
2vtm
vt

— m
4

ol L B o

:A 1
A2
5\3
A4

Objective Question
70 707150 2.0

In the Arctic, phytoplankton bloom events are increasing due to thinning
of sea ice. These bloom events are driven by

enhanced solar light penetration
lowering of salinity

decrease in grazer abundance
enhanced sea surface temperature

P o D o
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Objective Question
71 707151
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oIdUTdl <l YcId

qorsiieiial #r SELG] H FA

d¢ IR 9dg dTgHTed

Column 1 Column 2
A | Pretectonic
B T} Post-tectonic
C m Syntectonic
1. A-l, B-Il, C-llI
2. A-lll, B-ll, C-I
3. A-lll, B-l, C-lI
4. A-ll, B-1, C-llI
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4.0

Match the following porphyroblast (Column 1) and matrix relationship
(Column 2) in a deformed rock.
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Objective Question
72 707152
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& I IRPRRIeARe (FieA-1) FT g TaY (FIaA-2) & AT

p=rI SN P= o 1 = - o g

(Pre-tectonic:

qeafdddisie; Syn-tectonic: FHTAAITIh)

ifadf:

Column 1 Column 2
A | Pretectonic
|
i .,‘_Jrrl| .
B AN I Post-tectonic
I
C 1 Syntectonic

el fadheT 1 I

1. A-l, B-ll, C-llI

2. A-lll, B-ll, C-l

3. A-lll, B-l, C-ll

4. A-ll, B-I, C-llI
Al
1
A2,
2
A3 5
3

A4

Post-tectonic:

4.0

The ratio of *Nd/'**Nd in a whole-rock sample is 0.51110 and that in
CHUR (Chondrite Uniform Reservoir) is 0.51263. The “"Sm/'*Nd in
the sample and CHUR are 0.1212 and 0.1967, respectively. If the
sample is originated from CHUR, then at what time it would have
separated from the CHUR? The decay constant of #’Sm is 6.54 x 10"

12y,
1. 25 Ga
2. 2.7 Ga

3. 3.1Ga
4. 3.8Ga
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ThF MFH-AT IFT A “3Nd/'““Nd 1 AT 0.51110 vd CHUR

1. 2.5 Ga
2. 2.7 Ga
3. 31Ga
4. 3.8 Ga

Al

1
A2
2
3

Ay

4

Objective Question
73 707153

Station North velocity Latitude
(mm/yr) (°N)
Durgapur 37 235
Kurseong 34 27.0
Gangtok 29 275
Lachen 26 28.0
Gova 24 245

1. Durgapur — Kurseong
2. Kurseong — Gangtok
3. Gangtok — Lachen

4. Lachen - Gova
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(TIegTSe THT HSROT) #7 0.51263 81 “7Sm/'“Nd 37equrd 9&d & vd
CHUR & AT 0.1212 32T 0.1967 &1 IfE IIwT &1 3cafd CHUR &
g5 &, I & CHUR & &d 3T g37 grm? “/Sm & &/ R
6.54 x 102y g

4.0

The International Terrestrial Reference Frame (ITRF) North velocities
and the latitudes of 5 stations are listed below.

The maximum N-S longitudinal strain/shortening is developed between
which one of the following station pairs?

48/115


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda247

3/3/25, 1:41 PM

2 Live_Earth_2mar_E_1-150.html
qrT FRMAT ST AT FTUAT Tl orar (ITRF) 3caX aIfadl g
3TETIRIT T sirel Feleeer feham aram &

TR 3ccX It 376771
(mm/yr) (°N)
e 37 235
3
K
m— 26 28.0
e 24 245

i,
2
3.

4
Al
1
A2,
2
A
3
Ay

4

Objective Question
74 707154

1.

2
3.
4
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2000, 15°

. 8=, 19°

020°, 15°
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4.0

Attitude of the bedding in a sandstone sequence is 200°, 45°. Below
the sandstone sequence, the attitude of gneissosity in granite gneiss
is 020°, 60°. Assuming that the sandstones were deposited in a
horizontal basin, which one of the following is the correct attitude of the
gneissosity when the sandstone was deposited?
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Objective Question
75 707155

1

P 9 R

200¢°, 75°
1107 15°
020°, 15°
020°, 75°

13.5%
23.5%
27.5%
19.5%
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3TTehA o AT PATSE ATSH 1 ASHIhAT S Ugid 020°, 60° &1 AT
o T areuer v dfde aof A FEfd gam an 99 areder
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4.0

Fractional crystallization of a basaltic melt developed zoned crystals of
olivine and augite. The solid extract contains 60% of olivine. Calculate
the remaining melt fraction (in %) if the Gd concentration in the
remaining melt is 2.5 times that of the initial melt composition.

(olivine-melt and augite-melt partition coefficients for Gd are 0.012 and
0.9, respectively)

50/115


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda2477

3/3/25, 1:41 PM 2_Live_Earth_2mar_E_1-150.html

Teh SATeCIT IToid o TeTToil TohEcallehoT & 3lollided dal 339Se
F Asfoa freea ‘i%la?ﬁflt—rg“(fl o YT 60% 3MelTdsl I&@dT gl
AfE I T AT H Gd T g, TRIFTH Mol HeesT & 2.5 [T
aaﬁ§UW%ammw£Tmanmvaﬁ

(3TeNITAT-3TTeld Ud 3MT39Tse-3Teld & Gd & fov femara dAUqun HHT:
0.012 g 0.9 &)

13.5%
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Objective Question
76 707156 4.0

Consider the following four statements about the Archean terranes

|.  There are belts of volcano-sedimentary rocks metamorphosed to
the greenschist facies

[I. Granitic rocks in the Archean terranes are characterized by a low
K/Na ratio

[Il.  There are no clastic sedimentary rocks

IV. The TTG gneisses in most of the Archean terranes are depleted
in REE

Choose the correct option

1. I, Il and IV are true, but lll is false

2. |, lland lll are true, but IV is false

3. landll are true, but lll and IV are false

4. landlll are true, but Il and IV are false
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Objective Question

|, |1 2 IV |EY &, o Il 3707 &
|, 11 Fr [ FeY &, O IV 9T &

| T 1| |EY €, TR Il T IV 71l &
| 2 1l JET €, o | q2r IV 3rerd ©

4.0

|ldentify the correctly matched metals with their common ore minerals

Metal Ore mineral
A. W [. | Pentlandite
B. Ni [I. | Sphalerite
C. REE . | Wolframite
D. Zn IV. | Bastnasite
Choose the correct option

e (R N b

A-1,B-IILC-1,D-IV
A-IIlLB-IV,C-1,D-Il
A-IILB-I,C-IV,D-II
A-1I,B-IIl,C-1V,D -1
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1. A-1,B-1I,C-1,D-1IV
2. A-llILB-IV,C-I|,D-I
3. A-llLB-I,C-1IV,D-1l
4. A-1I,B=-1I,C—-1V,D -1

Objective Question
78 707158 4.0

An Ultra High Pressure (UHP) rock at a depth of 110 km is being
exhumed along a subduction channel dipping 30°. The velocity of

exhumation parallel to dip in the direction of motion is 1.5 cm/yr. How
long will it take for the rock to reach the surface?

1. 2.2 Myr
2. 22 Myr
3. 14.7 Myr
4. 147 Myr
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Objective Question

1. 2.2 Myr
2. 22 Myr

3. 14.7 Myr
4. 147 Myr

4.0

The average drawdown over an area of 120 km? of an unconfined
aquifer with 25% specific yield, where 20 million m? of water has been

pumped is

1. 0.67 m
2. 158
3. 0.96m
4. 3.33m

25% faferse 3curg & A1 Tk URECY Sielsd & 120 km? & &7
W 20 fAferIsT m® Sor & Al & arg 3 SToraders

m gIam|

1. 067/ m
2. 15
3. 096 m
4 333m
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1
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2
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3
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Objective Question

80 707160 4.0

Which one of the following types of cement in limestone forms above
the groundwater table?

1. Poikilotopic
2. Meniscus
3. Overgrowth
4. Peloidal

ol T & FW, ToAUce H oAH § @ld § Teh TehR & HHC
FoIdT 72

1. dsfharctUs

2. Agdega (AfaTwa)
3. 3fdgefd

4. Jelrgsdl

Al
A2
A3
A4

Objective Question

81 707161 4.0

How do Milankovitch cycles affect Earth’s climate?
1. By affecting Earth’s atmospheric composition, such as CO: levels

2. By causing changes in Earth’'s magnetic field, influencing
temperature fluctuations

3. By monitoring patterns of solar activity, such as sun spots

4. By altering the Earth-Sun distance and changing solar energy
received
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Objective Question

4.0
Match the most appropriate dating method in Column-Il for the

Quaternary paleoclimate proxy in Column-I.

Column-I Column-|
A. | Tree Rings P. |?'%Pb dating
B. |Speleothem Q. | ™C dating
C. |lce Cores R. |80 stratigraphy
D. | Young lake sediments |S. | U-series
E. |Corals
Choose the correct option
1. A-PB-Q,C-QD-R,E-S
2. A-Q,B-S,C-R D-PE-S
3. A-Q,B-Q,C-Q,D-R, E-Q
4 A-R,B-PC-S,D-S E-P
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Frel fraRor ggufd & @l AT &<l

FITH-| FleTA-l|
A | g&7 g P | 210pp srer fevemior
B. | argr attor fat Q. | 14C Frer Tyemior
C. |7 =+s R. | 5180 wafxar
D. | &a sier sma@re S. | U-sier
E. | varer
el dheq Il
1. A-PB-Q,C-QD-R E-S
2. A-Q,B-S,C-R D-PE-S
3. A-Q,B-Q,C-Q,D-R, E-Q
4. A-R,B-PC-S5,D-S E-P
Al
1
A2
2
A
3

The complex feeding organ in brachiopods is known as
1. notothyrium

2. nephridium

3. lophophore

4. gonad

FadE A IRT IR T F _ F AT T &
1. ARERTH

2. AfFREIA (FoFa)

3. SRR (RIETER)

4. =TS

Al

1

file:///C:/Users/Admin/Downloads/2_Live_Earth_2mar_E/2_Live_Earth_2mar_E_1-150.html

GET IT ON
Google Play

FieldA-l H FarE RISTerdry WIS T FioA-Il H T 33 3/Rg

4.0

57/115


https://applink.adda247.com/d/XhqWf9lSap
https://www.adda247.com/

Adda2477

3/3/25, 1:41 PM 2_Live_Earth_2mar_E_1-150.html
A2

A3
A4

Objective Question
84 707164 4.0

Life span of which one of the following sedimentary basins is the
maximum?

1. Intracratonic basin
2. Foreland basin
3. Pull-apart basin
4. Back-arc basin

A8 ¥ 5T Us 3799 SOl FT Side el 3ifdsad 8iar 87
1. 3Ad:helar grofr

3rreffa arofr

Je-379h ¥ arof

gea-amq grofr

W

Objective Question
85 ||707165 4.0

Which one is the solid form of hydrocarbon among the following
options?

1. Condensate

2. Shale gas

3. Gilsonite

4. Coal bed methane
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Objective Question

4.0
While extracting a core run of 150 m, the sum of the length of sound

pieces greater than 100 mm is 84 m. Then the Rock Quality
Designation (RQD) index of the rock is .

1. excellent
2. good

3. fair

4. poor

g ¥ TF 150 m & HIg FT Fhreld AT 100 mm & I &aaT
ghel &1 ST T TRT 84 m gl T Al IUTECAT HfFLE (RQD)
I HEIN

Hdhlh

o

1. 5
2. 3=l
3. Gdvolaish
4. T=o

Al
1
A2,
2
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Objective Question
87 707167 4.0

Which of the following parameters are commonly used to describe the
shape of individual clastic particle?

A. Form

B. Sphericity
C. Imbrication
D. Roundness

Choose the correct option.

1. A, Band D
2. A,BandC
3. B,Cand D
4. A,CandD

STH U il Teh HAUGS Ueheh WSSl 0T dl Thid I IEAT & folv
foRar STrar 87

A. T
B. Jliclehca (THRIAN)

C. FRBICIHIT]

D. gcdcd (W3+s4H)
el fasped T

A BTaD
A BtacC
B,CudaD
A CtaD

g N g
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Objective Question
88 707168 4.0
|dentify the drainage basin with the highest Strahler stream order

Choose the correct option

i G0 Pl e
v o 0o

3TIdH TEEolk URT YUTTel dTel 379918 gIvil &l 9gdret|

Objective Question
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i |dentify the prograding alluvial fan based on the information given in "

the following figure.

Sediment Supply

Low > High
z
H
5 oA ®C
@
s
o
(=
3 oB
o
(.
® oD OE
=L

S
moo »

%U?Wﬁ?ﬁﬂ@ﬂﬁﬁaamw?g:amvﬁmd@aﬁmﬁ
(Sediment Supply-37adTe GHIUT; Flood Power- STeTcelrdd QTied)

Sediment Supply

Low > High
3
5
i oA eC
4]
=
[e]
o
Q 0B
L)
LL.
® oD OE
ot
1. A
2 C
3. D
4. E
Al
1
A2 5
2
A3 3
3
Ay
4
Objective Question
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Statement A: Positive movements of ultimate base level result in the
drowning of lower part of valleys and associated aggradation in the
form of deltaic building.

Statement B: Positive movements of ultimate base level produce
rejuvenation of landforms with youthful zones of steeper slopes
spreading headward as waves of incision.

Choose the correct option

1. Both A and B are incorrect
2. Ais incorrect but B is correct
3. As correct but B is incorrect
4. Both A and B are correct

FUAT A: IIH TR AT T UATcHS TIoled HT IROTH °9rer & e
AT & ol UG HETd Secl AT & &0 H ATe e gidr ¢

FAT B: TWH 3IMUR TH FT TAcHF Tdodd, Hed & d@T o
iRl therra &Y @ 3TAUEUT el & Far &=t & @y, AN A

Toas 3cUee Fd Bl
1. ATg Bl aed ¢
2. AJTeld § W BHEEI &
3. ATE § W Baed &
4. ATd BaH Hel o

Objective Question
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Match the following

GET IT ON
Google Play

resulting in a hummocky terrain of
conical residual hills surrounded by
depressions

List -1 List-ll

A. The uppermost highly weathered E. | Tower karst
layer of karst bedrock beneath the
soll

B. A large karst depression formed F. | Cockpit karst
either by solution, or cavern collapse
or for structural reasons

C. Comprising steep hills rising up G. | Endokarst
above near level plains

D. | Produced by limestone solution H. | Epikarst

Polje

Choose the correct option

1. A-H,B-FC-E D-1
2. A-EB-1,C-G,D-F
3. A-G,B-I,C-H,D-E
4. A—-H,B-I,C-E,D-F
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et &1 Ao =
g - | -l
A | Far & A FEE MRS E. | st e

gal=a 319e1Rd Ra
B. v fod FEE I S A o golt | F.o | el #es
a1 §, 3127aT 6T ool ¥, 37T
TTATcHS RO I

C. | e ¥R flot & 3R wed gv | O | saaRe
Hfaugor ggifedt 1 enfie aar &
D. | s@veR & goet & @ ot F oy || srfueree
ﬁ%’;mcrm‘rsrqm%zﬁaﬁrw

el fadhed o
1. A-H,B-FC-E D-I
2. A-EB-I,C-G,D-F
3. A-G,B-I,C-H,D-E
4 A-HB-1,C-ED-F
Al
1
A2,
2
A
3
My
4
Objective Question
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The sulfate ion produced by weathering of pyrite is responsible for acid
mine drainage. Which of the following statements are correct?

A. Oxidation of sulfur drives the weathering reaction of pyrite
B. Oxidation of ferrous ion drives the weathering reaction of pyrite

C. Sulfate gets sorbed to iron hydroxides and humus more strongly
than phosphate ions.

D. Sulfate gets sorbed to iron hydroxides and humus more strongly
than chloride and nitrate ions.

Choose the correct option

1. AandC
2. Aand D
3. BandC
4. BandD

IRRISC o 39ETT ¥ 1T Gothe, Wald 3Falld 39dlg o ol ScaRarr

grar g1 S8 I Hid IT FAd Tel o7

A. TP F1 FHROT IRRASE & 39T FfAfHar #F aRa aar
gl

B. BRY 31T T 3iTFEOT URRISE & 379eTy 3fffshar r aRka
HLAT &

C. 3% EISSIFHSS U9 eAH T BIEhe &1 UET Hehe Sdmal
HAST & M Bl &l

D. 3T gIglddSs Ud egAd W FoRgs Ud dAlgee T Hr
HUST Hethe SUTGT Hotadr ¥ AT g g

ATaC
AtwaD
BuaC
BtaD

> N =
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A4

Objective Question

2 Live_Earth_2mar_E_1-150.html

Match the columns |, Il and Il

GET IT ON
Google Play

4.0

Column-| Column-II Column-ll|
A. | Wildlife P Recognized as | X. |Bharatpur
Sanctuary IUCN Protected
area category-l|
B. |Biosphere | Q. |Recognized in|Y. |Kanha
Reserve UNESCO’'S MAB
Programme
C. | National R. |Recognized as|Z. |Nandadevi
Park IUCN protected
area category IV
Choose the correct option
1. A-Q-X;B-R-Z,C-P-Y
2. A-Q-ZB-P-X;C-R-Y
3. A-R-XB-Q-ZC-P-Y
4. A-R-Y,B-P-ZC-Q-X
Fiere |, Il g Il & g e #X
oTe -| corcra| hroraT -l
A la=g sha [P [IUCN wfra a3 | X | smaqe
3TIRTT -1l AT
B. | wféra ota #ser| Q| gieR (UNESCO) | - | Fiegt
(PRI o) % MAB "rEme #
Al
C. |ufew sea=r |R | IUCN wfeig &3 |4 |secrear
g |V AT
el fased I
1. A-Q-X;B-R-Z C-P-Y
2. A-Q-ZB-P-X;C-R-Y
3. A-R-X;B-Q-ZC-P-Y
4. A-R-Y,B-P-Z,C-Q-X
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A4

Objective Question
94 707174 4.0

Assertion (A): In the Wegener-Bergeron-Findeison process, ice
crystals grow at the expense of supercooled water droplets.

Reason (R): Enthalpy of vaporization is greater than that of
sublimation.

Choose the correct option

1. Both Aand R are true and R is a correct explanation of A.

2. Both Aand R are true, but R is not a correct explanation of A.
3. Aistrue but R is false.

4. Both Aand R are false.

HFRAT (A): TN ToRI BISiSHA Ulehar H, dfAfIaferd ster dar
F =¥ 9 RF freea s &l

% (R): 3LdUTdel &I 37UET Ao I JUT FSAT S8 gld! &
TET fashed I+

1. AUd RaA HET § Ud A &I Hel e31&am R g

2. ATd R WEl & W A T Tel <Uredm R et g
3. ATE ¥ W Rared E

4. ATd REE eld g

Objective Question
95 707175 4.0
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At a climate station, the air pressure, dry bulb temperature and relative
humidity are 100 kPa, 40°C and 80%, respectively. What is the specific
humidity (kg/kg) at the station?

Given: saturation vapour pressure at 40°C is 7.39 kPa.

1. 0351
2. 0039
3. 0.011
4. 0.290

Th Serary T W, dg 2Td, YCh Tod dIIH Td FoeT 3TTear
AT 100 kPa, 40°C Ta 80% g1 39 T X faferse 3medr (kg/kg)

FAT grefT?
fear rar §: 40°C u¥ gAreaar arsa g9 7.39 kPa gl
1. 0.391
2. 0.039
3. 0.011
4. 0.290
Al
1
A2,
2
A3 5
3
My
4
Objective Question
96 707176 4.0
Match the waterfalls with the rivers
Waterfall River
A. Dhuandhar L. | Sharavathi
B. Gokak M. | Kaveri
. Jog N. | Ghataprabha
D. Chitrakoot O. | Narmada
P. | Indravati
Choose the correct option
1. A-O,B-N,C-L,D-P
2. A-N,B-L,C-M,D-L
3. A-O0,B-PC-M,D-N
4. A-M,B-0O0,C-L,D-P
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Objective Question
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SRAT FT AfeAT & F1T BT F

AT AcT
A 3T L. | erTadr
B. |k M. | sradr
C ST N. | gregsT
D. | Ree O. | Fefer

P. | segradh

Ter faheT T |
1. A-O,B-N,C-L,D-P
2. A-N,B-L. C-M,D-L
3. A-O,B-PC-M,D-N
4. A-MB-0O0,C-L D-P

GET IT ON
Google Play

4.0

Match the geomorphic features with the dominant processes

Feature Process
A. Talik L Coastal
B. Estevelle M. | Glacial
E. Gloup N. | Karstic
D. Sandur O. | Periglacial
2 Glaciofluvial
Choose the correct option
1. A-PB-L,C-0O,D-M
2. A-NB-PC-M,D-L
3. A-L,B-0O,C-N,D-M
4. A-O,B-N,C-L,D-P
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HIAThIdeh Fa&UT HT HE gfepam3it & arer AT F4|

TR gfehar
A AT TR (@fee) | L | a8
B. | zrerfawr M. | Raedr
C TABT N. | mifeées
D O

T () R ie#H=1eT

P. | Reegt

H‘é’fﬁaa—cvcrgﬁr
1. A-PB-L,C-0O,D-M
2. A-N,B-PC-M,D-L
3. AL B-O,C=N.D=M
4. A-O,B-N,C-L,D-P

GET IT ON
Google Play

4.0

Assertion A: A stretch of a sandy beach has a series of groynes to
prevent sediment loss. They have accretion on one side and erosion

on the other side due to coastal drift.

Reason R: The groynes restrict transfer of sediments as they promote

accretion in their downdrift side.

Choose the correct option

1. Both A and R are true and R is the correct explanation

. Both A and R are true, but R is not the correct explanation

2
3. As true but R is false
4. A s false but R is true
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fAFAA A: 3adG &1fd & 99 & o T dcgé i & IR &
e T i HHA gl J&T 981 d & FNOT 3dF TH RB
A Ta gEll TP TURET BIaT ¢

C

de R: dols gmd 3TENVATE T TR Il HT FErar Gl a4

2

& TATATROT HI Ak B

Ter fadhed I |

1. ATtd RaT ¥el & Ud R TET <I1&aT &

2. ATd REE HET & W R QT I1&AT 46T &
3. AHEl W Rmed ¢

4. A¥TeTd W REE &

Al
{\2
A3
A4

Objective Question
99 707179 4.0

Match the following

Features Direction of flow
A. | Lateral moraines | E. | Parallel
B. | Medial moraines | F. Transverse
C. | End moraines G. | Lacking orientation
D. | Drumlins

Choose the correct option

1. A-E,B-E,C-FD-E
2. A-G,B-G,C-E,D-G
3. A-E,B-G,C-FD-E
4. A-FFB-E,C-G,D-G
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TEr AT
TawRT Jgra #Hr R

A. | oifRds RHE E. | gaeiaR
B. | meadf Reie [P | g
C.|3mnger RAe |G | Rer Rd
D. | Reeere et
el fadheT I
1. A-E,B-E,C-FD-E
2. A-G,B-G,C-E,D-G
3. A-~EB-G C—-F D=E
4. A-FB-E,C-G,D-G

Al
1

A2
2

A3
3

A4

Objective Question
100 707180 4.0

Drainage density is inversely related to

1. stream frequency

2. stream order

3. constant of channel maintenance
4. length of overland flow

IUATE UAcd &% Qudig gafad g gl
1. gRT SRaRd]

&RT HOTTeIr

dig HFHIUT

AT UaTg FT ofaTS

e B
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Objective Question
101 707181 4.0

Match Column-| with Column-I|

Column-I Column-Il
A. | Digital  terrain | P. | Elevation surface that captures
model both the natural and built

features over the surface
B. | Digital surface | Q. | Elevation surface representing

model bare earth referenced
C. | Canopy height | R. | Vector based representation of
model surfaces created by connecting

a set of vertices
D. | Triangulated S. | Shows the height of objects
irregular model above the ground

Choose the correct option

1. A-Q,B-P,C-S,D+R
2. A-P,B=Q,C-S, D&
3. A-Q,B-P,C-R,D-8
4. A-PB-Q C-R,D-S
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PIcTH-| T FiTA-IIF Frer AeleT Y

GET IT ON
Google Play

hrore -| Hrore ||

A. | sifre G | P |3Taar @O o & @A W

Argel apfas wd@  fAffa  aet
Tl & TIIET A ¢

B. |snfps  @ae | Q| 3rfET offF et & ufaRfc
Hisol T drell 3=IdT &g

C.|Rast swuar R |t & & @opg & s
HAisoT g Tl H i TR

gfafafeca

D. | Breprofra= S | offF & IR F awgst H Fars
srferaftaaar Erir i
Al

TEr fAseT T4

1. A=Q,B-P.C-5, D4

2. A-PB-Q,C-S, D-R

3. A-Q,B-PC-R,D-S

4. A-PB-Q C-R,D-S

{\11

. 1

522

.2

¥

.3
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Based on the following diagram choose the correct option

Flow

2X6)

(o] A BO Dry

b Slide

Slow < > Fast

A = soil creep, B = rockslide, C = mudflow
A = soil creep, B = mudflow, C = landslide
A = mudflow, B = solifluction, C = talus creep
A = talus creep, B = mudflow, C = soil creep

fed s T & IR W el fdheq I
(Flow-8gT1a; heave-ured&id; slide-HYoT; wet-s1a; Dry-2[seh; Fast-osT)

il Al

Flow

00

oA Bo \Dw

Heave ;
i Slide

Slow < > Fa

1. A=3ar fagdor, B = & |99, C = 9 vamg

2. A=#er fg|YUT, B = U 9aTg, C = {F@oi

3. A=1U% UdwE, B = AT GUUT (HieFershas), C = e Herar fa@dor
4. A=er Herar fa@dor, B = U varg, C = #Her fa@qor
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A3
5\4

Objective Question
103 707183 . ] i . 4.0
The horizontal and vertical components of the magnetic field of a planet

at a location on its surface are 0.866 gauss and 1.000 gauss,
respectively. What is the magnetic field (in gauss) at its poles?

1. 1.414
2. 1.7132
3. 2.000
4. 2.828

TH FE & Uh TAT & Holg W Taehed &1F AT &ifdsl T Ieaner
Teeh sl 0.866 e T 1.000 3F &1 SHb ¢al W el ddehcd

& (3TF ) grm?
1. 1414
2, 1732
3. 2.000
4. 2.828
Al
1
A2
2
A
3
Ay
4
Objective Question
104 (707184 4.0
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At a location on the Earth’s surface, the magnetic field (F) and its
vertical (V) and horizontal (H) components are related by 4F = 3V +

V7H. If F at this location is 0.44 gauss, what is the value of V (in
gauss)?

1. D17
2. D23
3. 0.28
4. 0.33

g2dl & T T R Idehed &7 (F) Td ST 3Ld1eR (V) T &fas
(H)®bcedh 4F = 3V +7H SaRT Hafed 81 I 36 TAA R F &HT AA
0.443MH &, V (ATH ) &1 AT FAT M2

0.17
0.23
0.28
0.33

ol R

Objective Question
105 707185 4.0

The distance between the two locations having half the maximum
gravity anomaly values on a profile across a spherical ore deposit is
500 m. What would be the distance between a similar set of points on
the profile continued upward by 325 m?

1. 650 m
2. 825m
3. 1000 m
4. 1150 m
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T IMAHR 3FTTH @89 & JAR-IR TR (WHSe) TN 3TadH
T&cd faEanfa & 3 AT & @ &7 T H gl 500 m g1 FAT
fSgait & HHaead F SF gRATT W 325 m IR Raxar & o
AT e 3eich ot T g fohetell graf?

650 m

825 m

1000 m
1150 m

raal -l Al

Objective Question
106 707186 4.0

A and B are two terrestrial planets of equal radius. A has a stronger
gravity field than B, but B has a stronger magnetic field. Then,
compared to B, A has a

1. thinner mantle, and a thicker and dominantly solid core.
2. thinner mantle, and a thicker and dominantly fluid core.
3. thicker mantle, and a thinner but dominantly solid core.
4. thicker mantle, and a thinner but dominantly fluid core.

Uk AT 35T & 2 TUNT IIg AUd B B &I 3y0em A Org
AT ITwca &7 g, TR B & urg #Hofed tj,dchcd a9 &1 dd, B&r
39T, A$ IH gIaT |

Udell UaR, Ud Tk Alel 3R TeITaRIell 319 $His
Udell UIdR, U9 Tk AleT 3R Usaemel gd HIg

AT UdR, U9 Teh gddll qig TTaRITel 31 hig
HieT YdR, Td Teh Uddll R TITaRITell &d His

F A i
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Objective Question
107 707187 4.0

When electromagnetic signal travels from transmitter (controlled
source) to receiver directly through the air in electromagnetic
prospecting then which is correct about amplitude and phase change
of primary field reaching at the receiver coil? (With respect to
transmitter)

1. Both amplitude and phase of primary signal reduces significantly.

2. Only amplitude changes significantly but phase change is
negligible.

3. Amplitude change is insignificant but phase changes significantly.

4. Both amplitude and phase change are negligible.

veh faegadaehia qdetvr # STa faegadedhra dchd e gaT & ATeTH

ﬁﬁw(ﬁlﬁﬁﬁuidﬁ)ﬁulsqwﬁqgﬂﬁaﬁmgﬁﬁw
qge arel UTTAS &1 F I T Fell IRGTA F IR & FA1 T
&7 (Ieh & gaaT #)

1. UTATAS Thd F JITH TF Foll ST H Ieod@ATT FAT g1l &1

2. Fad AH H 3ealad IRATA 8iel &1 T FHell IRAA 707
BIcT &l

3. 3MATH GREde ARl Wd el TRace Seel@ed giar &

4. 3TATH TG Holl IR aldAl 19107 giam gl

Objective Question
108 707188 4.0
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Choose the correct option about the given statements for
electromagnetic surveying methods.

Statement | : There is one false crossover between two actual
crossovers in dip angle profile data over two vertical conductors.

Statementll: One percent error made in measurement of
transmitter-receiver separation creates 2% error in electromagnetic

anomaly in Slingram method over a vertical conductor.

1. Both statements are correct

2. Statement | is correct but statement |l is incorrect
3. Statement | is incorrect but statement |l is correct
4. Both statements are incorrect

fegadeasha wderor faftl & fov e v weet & an & &g

~J

ﬁwqgﬁl

FUA | : & 3eaER GeITeTehi & FUT ATd HIOT greai=a 3Hishar H ar
aredias AT & v 3/ [JfFaET aar g

FUT Il : TFH IeaTer gaToieh o FUX TEelamH qotell # & UYeh-IATEh
qersheheh & HYT H T ufgya Fr fal__j% T&qﬂgdgj’dqﬁu fagerfa &
2% @1 IfC a1 X B

1. ST U T ¢
. FUA | B § W FUT 1| 37067 §

2
3. & | 379 %w;%l FAT I TT &
4. TAT AT ITT &

Al

Objective Question
109 707189 4.0
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If 12 metal electrodes are arranged along a profile at equal intervals
then what is the maximum number of apparent resistivity
measurements that can be made using Wenner configuration for
electrical resistivity tomography survey?

1. 18
2. 18
3. 21
4. 24

Tfg 12 urg fdegear A v qredfay & TR O eckTel T
T@Twaaﬁagﬁmamaﬁmﬁﬂéaﬂwa;%vam< GERIIR:!
FT YA I TS JTaQUTSdl AN &1 fdepgs gear feaar
grefr?

1. 18
2. 18
3. 21
4. 24

Al
A2
fB
A4

Objective Question
110 707190 4.0

A pair of point current electrodes are placed 100 m apart on the surface
of 500 Om resistive homogeneous subsurface structure. To what depth
from the surface will 25% of the applied current flow?

1. 100 m
2. 50m
3. 25071m
4. 2071 m
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T 500 Om YR FAFN 3UHAE o & Hdg W fdg dfckius
fdegeait & v gadm 1 100 m RIS 9 I@T AT &1 TAg @ febcelr
GRS U 3TIFA URT T 25% TaTied glam?

1. 100 m
2. 50m
3. 2aflm
4. 20.71m

Al

1

A2,

2

A3

3

Ay

4

Objective Question

111 707191 4.0

Seismic tomography was done using the source-receiver geometry as
shown in the figure. The velocity perturbations (%) shown are with
respect to a reference velocity of 4 km/s. The absolute travel time
residual is the maximum for the ray path

A R4
+3% +6%
4km| 81 R3
X 82 » R2
4 km| S3 \m
v 54
4 km 4 km
1. S1-R1
2. S2-R2
3. S3-R3
4. S4-R4
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Objective Question
112 /707192

+3% +6%
4km S1
X sz\ »
akm S3 \
v 54
F 4 ki 4 km
1. S1=R1
2. §S2-R2
3. 83-R3
4. S4-R4
Al
1
A2
2
A3 3
3
Ay
4

R4

R3

R1
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Match the well log observations in column A with their corresponding

cause in column B

Column A Column B
P Featureless S.P. Curve 1. | Permeable bed
Q. Separation of resistivity | 2. | Rmi = Rw
curves
R. Suppression of S.P.| 3. | Shaly sandstone
Curve
S. High Gamma Ray count | 4. | Presence of gas

Choose the correct option

1. P-3,Q-2,R-1,S5-

Ter fAes &4
FIeTH A FreH B
P. TIEWET S.P. 3% 1. | orereT deR
T ——— R LTELT
JareFhell
S.P. gshl T e 3. | ey dTeEeR
S. Seg amAT faeeor aver | 4 |3 dr sufeuta

file:///C:/Users/Admin/Downloads/2_Live_Earth_2mar_E/2_Live_Earth_2mar_E_1-150.html

H‘z?rﬁ%crgﬁn

1. Q-2 R-1,S-4
2. A —2.R—-4.8-3
3. ,Q-1,R-4,8-3
4. .Q-1.R-2.8§-3
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Objective Question
113 707193 4.0

A shallow focus teleseismic earthquake of magnitude 7.0 is recorded
by a broadband and a short period seismograph located at the same
place.

Statement 1 : The range of frequencies of ground motion recorded by
both stations are the same.

Statement 2 : The record length of the event at both stations is the
same.

Choose the correct option

1. Statement 1 is true and statement 2 is false
2. Statement 1 is false and statement 2 is true
3. Both statements are true
4. Both statements are false

T B STg W EUd T TaEda-ss Ud Ueh HEHA TRl Sehdells]
GaRT UF 7.0 YRATCT FT A 39H & (Plhd) UEHD oHT
safafaa foear amm

el 1 el TR W SATARET TR I efEricidl &l aRaRAT &
TR sRTe g

FUT 2 : AT TSAT W GTAT & ATHET FTIR R ¢

Tel fadhed I

1. $UT 1 FET & UF HUF 2 7Tl &

2. FAT 16T & U FAT 2 Tl &

3. ol FAT TET &

4. ST FAA T ol

Objective Question
114 707194 4.0
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A near surface earthquake occurring on a fault separating two media
is recorded by two stations A and B as shown in the figure. If the P-
wave fravel times and the S-P travel time differences are, r.f} and t.§ ;

and tZ, and tZ,, respectively,

A& G0km € 60km =B

L | e . J

o=028 0:=0325
Vp = 6.9km/s Vp=6.3km/s

=¥ Earthquake, o - Poisson’sratio, Vp- P wavevelocity

then which of the following is correct?
1. th, >l andt; £t
2 1y <l g andt) <
i, =t andt] <]
4. t&, #td,andty >t}
sar fo = & fe@mrr arar §, ar €eeusl ATd B gaRT U &l ATeHl
I 370791 il dTel M T Blel ATel Teh Tolehe Hlg 3T I 3ifeeliad
o a1am| IfS P-aReT I §HT AT S-P Im=r THT fSeIdrd e
A r +B A r +B -
tAud tE, qur ¢4, vt , Bl

(Earthquake - 871, Poisson’s ratio - Si5dT 37=T4TdT; wave velocity -cRaT
i)

A€ B0km > € 60km B

v

o =028 o =025
Vp=6.9km/s Vp=6.3km/s

% Earthquake, ¢ - Poisson’sratio, Vp- P wave velocity

9 S5 ¥ il T Tl 67

1wl ol wad gl
2. i<t uEE <8
3. =18 ] <t
4. 4, #8 WE >t
Al
1

A2,
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Objective Question
115 1707195 4.0

A gas-sand layer is overlain by a shale layer. The shale and gas-sand
interface shows a class 3 AVO response. |dentify the CORRECT
inequalities relating to the P-wave impedance contrast (Az) and
contrast in Poisson’s ratio (A o) across the interface

1. Azz=0 Ac>0
2. Az<0 Ac<0
3. Az>0 Ac<0
4. Az<0 Ac>0

Teh -6 WA & FHW Teh Aol W g1 Aol T IHF-aTe] HcRTheleh
T ot 3 AVO &1 gfaferar fe@rar g1 P-aRer ufdemen sig (Az) va
3RTheTeh o 3R-UR UISEl 3T (A o) H AT ¥ Hefad oe

qgdre |
1. Az>0 Ac>0
2. AZ<D Ac<0
3 Az=0D Ao <0
4. Az<0 Ac>0
ALy
1
2
A3
3
Ay
4
Objective Question
116 707196 4.0

A dipping reflector has a slope of 0.5 s km™ in a stacked section.
Assuming a uniform velocity of 2 km/s, the dip of the reflector is

1. 15°
2. 30°
3. 45°
4. 60°
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T AT Fc § = dfﬁgcrd WRIadss & et 0.5s km' &1 A
& 2 km/s & T GART I &, Wiades HT A g

15°
30°
45°
60°

e G B =

Objective Question
117 707197 4.0

If the P-wave potential is given by ¢, then which one of the following
identities suggests that P-waves are irrotational?

1. V«(Vd)=0
2. V=0

3. Vx(Vp)=0
4. VoxVe =0

Ifg P-oier Rufasr & ¢ canr G@mar o a9 a8 § &id T
garar & & P-aver el 82

1. V(Ve)=0
2. Vp=0
3. Vx(Vd)=0
4. VoxVp =0
“
1
2
2
o5
3
i
4
Objective Question
118 707198 40
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Convolution of two positive rectangular signals of equal lengths
produces a

1. triangular signal

2. rectangular signal

3. gaussian signal

4. asignal that is identically zero

T oaS & 3l UlcHS® 3AAR Hehdl & gddld T

3cUeed HIAT gl

. i g

1

2. 3ATATRR Hohd

3. &I Tohd

4. T Hehd S foh T & S § Hl

{u
A2
fB
A4

Objective Question

119 707199 4.0

Consider the following statements:
Statement 1: In the stratosphere, the altitude at which the ozone

concentration (molecules cm™) is the maximum lies below the altitude
at which the ozone mixing ratios is the maximum.

Statement 2: The maximum temperature at the top of the stratosphere
occurs at around 50 km, well above the main ozone layer.

Choose the correct option

Both the statements are correct

Both the statements are false

Statement 1 is correct and statement 2 is incorrect
Statement 1 is incorrect and statement 2 is correct

= 0 Aoy e
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fFT Fuar W SR w1

FAT 1. FHAQT ASAT H dg 3Tddl o8 W 36T Fr 3fShad
THAOT 31UTT BlaT & 3H% oA STaaA 3fSile i (3797 cm'?)
3=adr Higig g 8l

HAA 2: HEL ST W & HH FW, FATT HAsoT & M W
31 add ITTATT 918797 50 km WX grar %I

1. Wl woe Fe

2. W ®UeT 3T §

3. HUT 1TT § T A 2 30T &
4. FUAT 130T § U9 FUT 2T &

Objective Question
120 /707200 4.0

What is the maximum radius of a raindrop that can survive or not break-

up while falling with a maximum terminal velocity (Vr) of 9 ms-' in an

atmosphere with a value of the drag coefficient (Cp) of 0.825?7 Consider

the value of surface tension of water (c.)=0.072N/m and density of air
a) =1 kg m=.

(pa

1. 1.2 mm
2. 25 mm
3. 43 mm
4. 5.6 mm
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&Y donieh (Cp) & 0.825 HA & T agASH H T Ims' &
Hﬁwmﬂﬁr(wﬁxmﬂﬁﬁﬁ?aﬂ‘ra’g, S s aRfeufa
¥ 3fedca & T BT & JUar A= AT &idr &, 399 ATede
Bear fheT g1aN? Al o el & 56 el T A (0,)=0.072N/m

Ug g I "eled (pa) =1 kg m= &l
1. 1.2 mm
2. 25 mm
3. 43 mm
4. 56 mm

Al

1
2
A3 3
3
M

4

Objective Question

121 707201 4.0

At what temperature will the saturation vapor pressure of an air parcel
double from 15 hPa to 30 hPa? Assume the initial temperature of the
air parcel to be 273 K. Given: Latent heat of vaporization (L)=2.5x10°
J/kg and specific gas constant for water vapor (R.)=461 J/kgK.

1. 288.5K
2. 28¥3R
3. 291.0K
4. 295.0K

g dI9ATT 9 T arg s F Gt arsy grd aIL=AT 81X 15 hPa
¥ 30 hPa g STRET ? Al o6 dg WS HT URTES oA 273 K gl
SISO T Icd FAT  (L)=2.5x10° J/kg Ta Siel arsq 1 fafree
i TR (R)=461 J/kgK gl

288.5 K

293.5K

291.0K
295.0K

il o

Al

1
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A2

A3
A4

Objective Question
122 /707202 4.0

What is the supersaturation level required for a droplet of radius 0.1
pum to exist at 20°C through homogenous nucleation of liquid in
vapour?

Given: Surface Tension of water at 293 K=0.072 N/m, Density of liquid
water p=1000 kg/m?, Specific gas constant for water vapour (R,)=461
J/kgK.

1. 5%

2. 10%

3. 7%

4. 3%

arsq H gd & FAN Arfeehel o gart 0.1 um BFsar & fdgh &
20°C WY HEdcd H &l T@el o oI fohctall 3TAEA &l TTaehar
grafr?

fear &: Ster @1 293 K WX gs¢ dalrd =0.072 N/m, g STl T Helcd

p=1000 kg/m?, STeT arsg & faferse 3 e (R,)=461 J/kgK.

1. 5%
2. 10%
3. 7%
4. 3%

ALy
1
A2,
2
3

Ay

4

Objective Question
123 707203 4.0
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The global annual mean equilibrium temperature of Earth is 290K,
calculated assuming a planetary albedo of 0.30 and atmospheric
emissivity (g) of 0.8. If the planetary albedo decreases by 5%, what is
the new equilibrium temperature of Earth in Kelvin? Assume the solar
constant (S)=1361W/m? and Stefan-Boltzmann constant (5)=5.67x10-*
W/ (m?K?)

1. 291.2K

2. 2934K

3. 2928K

4. 2940K

0.30 & IErT Radr wad T 0.8 3cHolhdl (¢) N A F Jedl &
dRger af¥e® 3iad @ argaATT &1 01T 290K Fr =T Al T8
Radr 5% ¥ F# & W &I, Hfcasdt A e I 79 FAGEAT dATIHA
FAT gRM? A o T R (S)=1361W/m?2 Jarr Eeha-dicersrdsd
f&RIF (5)=5.67x10-8W/(m2K*)

2912 K
2934 K
2928 K
2940 K

B G R =k

Objective Question
124 707204 4.0

The external gravity wave, whose dispersion relation is derived by
invoking the linear shallow water equation, is

1. atransverse wave

2. adispersive wave

3. having compressibility effects

4. generated in a non-homogenous fluid
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daed & AT, T ufhole Heer &1 fAsures W 3erel Sief
GIAFIOT T 3TAT Feh fhAT FTCT g, gl

1. 3TTSE AT g

2. 9fRToTd e gian

3. gfusTar g I@dr

4. U FHAFN g9 H 3cTead gar

Objective Question
125 707205 4.0

Considering Tropical cyclone as a Carnot engine, match the following.

Column | (Carnot engine) Column Il (Circulation associated
with tropical cyclone)
A. Isothermal expansion P. | Subsiding motion

associated with downdraft

B Adiabatic expansion Q. | Near surface radially inward
flow

C. Isothermal compression | R. | Updraft associated with wall
cloud region

D Adiabatic compression S Radial outward flow from

cirrus top of cumulonimbus
cloud

Choose the correct option

1. A-PB-Q,C-R,D-8
2. A-QB-R,C-S5,D-P
3. A-R,B-S5,C-P,D-Q
4. A-Q,B-P,C-S,D-P
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Jg AT gV foF IsuTRfeael Tshald Ueh FRAC Soid g, e &
IERIGE:ZY
HIH | (FRAC Sol) Frord || (FSuThfeaeiy Tdhad o

5 - )
A gEaT gaER] P. |spfvare & arr @efaa
3radolel I
B. FeRisH yar Q | e e Bsug 3w
Udlg
C. |gramy gdisa R | ®g & ¥ msfa
3eddg
D. | feeRisHy ddfea S. | urdr a¥f & wemer AT T
B arey varg
el Aoy gﬁr
1. A-PB-Q C-R,D-S
2. A—Q,B-R,C-5,D—{8
3. A-R,B-S,C-P,D-Q
4. A-Q,B-PC-S,D-P
Al
1
A2,
2
A3 5
3
Aty
4
Objective Question
126 1707206 4.0

A weather radar observes a reflectivity factor of z=64x10° mm®/m? for
precipitation within a volume containing 4x10? raindrops per cubic
meter. Assuming all raindrops are of the same size, what is the
approximate diameter (D) of each raindrop?

1. 5mm
2. 4mm
3. 3mm
4. 2mm
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afd geFd Y 4x10° a9 §&f arel 3as & o & v, v Ataw
SR 2=64x10° mm®/m® &I GXTarclal (0T W&ToT Il &1 HAel of Toh
el ael §¢ s} 3R & §, uid aul §g H1 GledAsde = (D)
T gIe?

5 mm
4 mm
3 mm
2 mm

el o Ll

Objective Question
127 707207 } o o =P 4.0
Assuming 1 kg parcel of dry air rising at a constant velocity, if the parcel

is heated by 0.05 Wkg-', what must be its vertical speed to maintain it
at constant temperature in a hydrostatic atmosphere?

1. 0.5cms!
2. 50 ghgs '
3. 0.05¢cms™
4. 50.0cm s’

AT o 76 1 kg FT eh d;gasis e f8R fa ¥ 3W 35 W@ &, I
gs & 0.05Wkg' & 916 fRar Sirarm &, v gaedfds argaAse &
SHPI Ush R AT W a1 W & folw s@dr 3eanr afg aar
erefr?

1. 0.5ems!
2. 50ems?
3. 0.05¢cms™
4. 50.0 cm s’
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A3

A4

Objective Question
128 707208 4.0

Consider the following statements

Statement A: The northern hemisphere sub-tropical jet stream in the
upper troposphere is observed daily over the Indian latitudes during
South West Indian Monsoon season.

Statement B: The easterly jet stream observed over Chennai latitude
is attributed to the outflow associated with the Tibetan anticyclone.

Choose the correct option

1. Both statements are true

2. Both statements are false

3. Statement A is false and statement B is true
4. Statement B is false and statement A is true

e st 9 faar &2

FUT A: STETOT GIRIH AR AT %g%q‘s‘(lﬂ ST 37817l &
FIR 3R &1 FASA H 3cal Ielrey 39ISoT HieaelT Sic sfas &
H ufera forar S g

FYT B: UoeTs o IETRM o FU UfeTd gdl sl un foead uidershard
g Hefd afgarg & HROT &Il &l

el oo I

1. Gl P Ter &l

2. 2T e T B

3. FAT AT ¢ Td HYUT B Tel o

4

. FAT ATET & Td HUT B e T &l
Al
x
fm

Ay

4
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Objective Question

129 707209 4.0

Which of the following statements is INCORRECT for determination of
sea surface temperature (SST) through passive satellite radiometer, by
using microwave and infrared sensors?

1. Microwave can penetrate non-precipitating clouds
2. Planck radiance equation is simpler for microwave
3. Earth is a perfect blackbody for microwaves

4. Water vapour absorbs infrared radiation

H\&ﬂmuﬁm%ﬁwwwmyﬁrﬁwm
fafeRoaArdy ganT @ag |as amHs (SST) & fAuRer & fav soa
T Pl AT IFAT Td 87

1. |EH T aW FGI FeA aTel HEl HT A Hebod o

2. G&EA I & foIv ol TafeRorar aafiesor & 8id ¢l

3. G&H a9 & [T gedl Ueh Scad FHisvre gl

4. ST IT AFd [AfhLoT &1 M™T IR &l

{\1
§A2
.AS
'A4

Objective Question
130 707210 4.0

Under the constraint of conservation of absolute vorticity for horizontal
flow in northern hemisphere, which of the following is INCORRECT?

Easterly zonal flow can curve cyclonically southwards

Easterly zonal flow can curve anti-cyclonically northwards
Westerly zonal flow can curve cyclonically northwards

Westerly zonal flow cannot curve towards the meridional direction
and must remain purely zonal

el e
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3o ey # Afde uare & v BRuy a9ffedr & dweor &
AT F I, AN G FiA AT &7

. qdf & vaTe "ehdaTdid EfEiT I TG HS Fehd &l

1

2. gdl &Y vdTg Afdashdlcid 3ccX HT RE S Fhd &

3. ufReHr &g g Tl 3ecl T TRE HS vl o

4. gReHAT & gae AEeaiT feRm 1 aX Hs gl Fhd Td
qOT §9 & e Ed §

Al
A2
fx3
A4

Objective Question
131 707211 4.0

In a difference equation for zonal wind (u) given as
u™ = (1 — pét)"u°

Where n=1, 2, 3,--- and &t is the time step, £ is a constant and u° is
the value of u at time t=0. The solution of u" will be computationally

unstable for
1. p3t=0.5
2. f5t=0
3 gat=1
4. pat=25
AT gaaT (u) & fore sl g#Eeor A e o gl

Ut = (1 — BSt)"u®

Sern=1,2, 3, Td 8t AT WOT, f T W& Td W0 AT t=0 W
U ST HTT gl U" T & & o sifeeaiaaa; 3rEarR &

1. p5t=05
2 FEi=g
3. gst=1
4. pst=25
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Objective Question
132 (707212 . . . . _ . 4.0
Geopotential height is preferred over geometrical height as vertical

coordinate because

1. it avoids geometrical distortion
2. it clearly brings out the dynamical balance
3. it makes the continuity equation diagnostic
4. it filters out gravity waves
Fuarer fAceis & ®0 7 SRS 3T9ar #r i 3=9ar &
Sarer aigar & S g, Fifs
1. Ig SAMAGT fapfd @ IRER T B
2. Ig TqSC ®T T IAfafer HJeleT I GrH ordT 2
3. Ig foRaar affe<or & fAa ga& aarar gl
4. I I&cd AN P BT gl
Ay
1
A2
2
Ay
3
Ay
4
Objective Question
133 707213 4.0
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A rising saturated air parcel, having cloud droplets, is subjected to
entrainment of environmental air. Which of the following is
INCORRECT for the air parcel?

1. Moisture content is reduced.
Air temperature is decreased.

The positive buoyancy is decreased.

= G

The latent heat of condensation is increased.
AY el drel 39 35 §T Ay @S I 9ITaor g & TUEUT & oIT
vsTidd fohar 91| 9y @s & foIv 594 @ HlA Th eI &7

1. T $r AET FH & AT 2l

2. a1y dUA HH g ST &
3. UATCHS 3cTalldadr # FHAT gidr &)
4. HUAA H ICA FSAT 9 Sl ©

?M
A2
fxs
{&4

Objective Question
134 /707214 4.0

At a fixed radius with the same latitude having the same pressure
gradient, which of the following statements is correct?

1. Gradient wind speed (GWS) around a high pressure is lower than
the GWS around a low pressure in the northern hemisphere.

2. Gradient wind speed (GWS) around a high pressure is equal to the
GWS around a low pressure in both hemispheres.

3. Gradient wind speed (GWS) around a high pressure is lower than
the GWS around a low pressure in the southern hemisphere.

4. Gradient wind speed (GWS) around a high pressure is higher than
GWS around a low pressure in both hemispheres.
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veh AT BT W, AT S UguTdT drel AT 37&TeT & &1,

SIH U Hid FIT TET g7

1. Scall 3iremel # et g9 o $&-F1E gaurar arg a1fd (GWS) &
38T 3= g1 & 6-1916 GWS &H giaT g

2. gt sMerdt & 3T g@ F 35-Fic GWS A g & s6-fg
GWS & ST &I &

3. cfeyol aemd & @ g & -5 &1 314eT 3=9 g9 F -
& GWS & gIar &

4. qrAT Mot H Fed gd & -1 T 31UeT 3T & & S-[PIG
GWS 31fers g1ar 2

Al
:AZ
A3
f\4

Objective Question
135 707215 . i ) ! ] 4.0
Even-numbered marine isotope stages are associated with which of

the following conditions of glaciation, and oxygen isotope ratios (5'°0)
of benthic foraminifers?

1. Glacial and higher 30
2. Glacial and lower §'*0
3. Interglacial and higher 'O
4. Interglacial and lower 3'®0

Y HCATCHS® AT HAEATAS TROT & I fohed RHAASIRIOT
c=MT3T Ud fAdereer BRI & JIFdsid FAEAlAS Hegardr (5'°0)
T gafaa g7

1. BAAET wa 3= §'%0

2. BTG v @ 5'°0

3. INGAAGT wa 3= 5'°0

4. IAURAFAGT va faFT §'80
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Objective Question

136 707216 4.0

The cold seeps at ocean floor refers to

1. release of cold water from icebergs

2. release of Helium at mid-oceanic ridges

3. low temperature hydrothermal circulation of brines

4. escape of water with methane, hydrocarbon and/or H2S

AR a W AdeT Edg Fr SfoTg &ar g

1. fea@sr @ fider Sfor 1 JiFd

2. ALY PRI Fehl W He T FiFa

3. SAUl-STd & fdel dd STl gRETRT

4. TR, gTSSIlaa Ta/372ar H.S arel oo &1 oy

{\1
52
:A3
‘A4

Objective Question

137 707217 4.0

Which one of the following lists tectonic plates in order of their
Increasing areas?

Antarctic, Eurasian, North American, Pacific
Eurasian, Antarctic, North American, Pacific
Pacific, Eurasian, Antarctic, North American
North American, Eurasian, Antarctic, Pacific

o B N e
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ded aiawhel & fedd & faaciarhr Tolel T ST @ HidT AT 30ThA
el &7

1. 37criee, IXRMT, call AN, g=rid
2. RIAT, 37CThIEHT, Scall AN, TR0
3. Iid, IR, 3erhieaT, 3call 3AREH
4. 3ol AN, JIRIAT, {CTRTCHT, T=ITT

Al

1

1
A2,
2
3
Aty
4

Objective Question

138 707218 4.0

Which one of the following is NOT true about bottom simulating
reflectors (BSR)?

1. Their reflection geometry is similar to seafloor geometry

2.
3.
4.

They have similar reflection polarity to the seabed reflection
They frequently intersect the primary reflections
They are associated with the base of gas hydrate

el 3oVl WIacieh (BSR) & R # ST & el Ush HEl ARl 67

1. 3AHT Wad mﬁﬁﬂ@aﬂﬁ?&(ﬁﬁH%Waﬁrgl

2. 3% 91 TqHg T WIade & GHT TIdded JIdT grelr gl

3. 9% U WAiA® Wiadel & WEI Hled ol
4. 9g 99 gesc & YN & Gy & rd

ALy
1
2
A3
3
Aty

4

Objective Question

139 707219 4.0
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High evaporation in the Persian Gulf leads to the formation of Persian
Gulf Water (PGW), which enters the Arabian Sea and spread in the

1. depth range of 50-100 m in 22.8-24.0 kg/m? ot levels

2. depth range of 200-300 m in 26.2-26.8 kg/m? &: levels
3. depth range of 500-700 m in 27.0-27 .4 kg/m® c: levels
4. depth range of 400-700 m in 26.8-27.0 kg/m® o: levels

BRI HT @ET F 3T IUH0T FRY TEr STl (PGW) & g &
geraT 3T g, oif 3Rd PR # U3l &Ldr ¢ vd # $orar gl

1. 22.8-24.0 kg/m® o TRT & 50-100 m & TS &3

2. #26.2-26.8 kg/m® oy TART 200-300 m & IES &
3. 27.0-27.4 kg/m3 o TRT & 500-700 m & IES &1
4. 26.8-27.0 kg/m® o TRT & 400-700 m & &S &7

Al
{xz
A3
{\4

Objective Question
140 (707220 4.0

What is the value of Coriolis parameter at 30°S? (Given that the angular
velocity of the Earth is Q)

1. -Q2
2. Q
3. 2Q
4. _Q

30° &. WX HINNTE AMUGUS & A FA7 granm? (6 arm & g
1 o afd § Q)

1. =02
2 9
3. 20
4. -Q

Al
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Objective Question
141 707221

The period and rotation of inertial current at 30°N is

12-hours, clockwise
24-hours, clockwise
12-hours, anti-clockwise
24-hours, anti-clockwise

el

30" 3. W ST YRT T Ul UG AT SHaAsr:
1. 12-6¢, ©S AT S & Toked AT fger #
24- °¢, U T s F ol hr foew H
12-6¢, 931 HT s & ol DI Joc! 6T H
24-T¢, GST HT G el hI ool G H

= LN

Objective Question
142 707222

EICC (East India Coastal Current) is strongest and
1. poleward during October - December

2. equatorward during October — December

3. poleward during July - September

4. equatorward during July — September

EICC (qdf $1Rd & 9RT) € Holgd U9 Bl &
1. IFR-EEFR & ¢ #1 AR e

2. IFIR-lEHFR & favad &1 3R sifee

3. Fes-AdFsR & g 1 AR 3ifew

4. Sems-FAaFeX H favyad @ 3R AT
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Objective Question
143 707223 4.0

Which one of the following factors does NOT affect the subsurface
chlorophyll maxima in tropical waters?

1. Penetration of solar irradiance in surface waters
2. Nuftricline depth

3. Self-shading of plankton on the surface water

4. Amount of dissolved oxygen in the surface water

SIH & il TT Teh PR 39T HicagdT SToil & YUIgRd 3=IdT i
TATTad TRl AT 87

1. @dg e # AT geprer [ATR0T &7 sig |
2. GI¥e-9duTdr sfRdr|

3. Odg SIof UX Toldehl &l TI-SIdd sl
4. @dg ST H téo\I 3ffegsteT S AET

Al
1
A2,
2

3
Aty
4

Objective Question
144 707224 4.0
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Consider the following statements about ocean biological pump.

Statement A: The rain of soft-tissue organic carbon from the surface to
depth, the “soft-tissue pump”, lower atmospheric CO..

Statement B: The rain of mineral calcium carbonate from surface to
depth “the carbonate pump”, also lowers the atmospheric CO-.

Choose the correct option

1. Both the statements are correct

2. Both the statements are incorrect

3. Statement A is correct, B is incorrect
4. Statement A is incorrect, B is correct

FHG S U9 & aR # e Fuel w AR w1
FAT A HAE F s H oRHA Fddh Flaledsh Hlaed HI aul, H-
3 9T, agASHT CO; HT HH HIT

FAT B: Odg T TEUs H Tiadol $iedIH Flaldic T Iul, ‘Feidc
g, off argHseT CO, & &H Fal ¢l

HeT fashed oA |

1. a1l $UAT T &l

2. BT HUT T gl

3. FUT ATE &, FIT B e T 2
4. FUT AT &, AT B TET ¢l

f\l
A2
A3
{x4

Objective Question
145 1707225 4.0
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If we were to increase atmospheric CO; sixfold by burning fossil fuels,
how much would the atmospheric O> concentration change relative to
today? Assume that the burning of fossil fuels consumes 1.5 moles of
O2 per mole of CO; produced?

1. O, concentration would fall to 18%
2. O, concentration would fall to 15%
3. O3 concentration would fall to 12%
4. O, concentration change would not be noticeable

gie SHaRA See I Sfell ) agaEsend CO; H & =1 Fel= gl
3TTST & Jolell H AASST O, 3l fohclell Higal &1 SIRIEN? Al o foh
SlarRA U Sl # 9fd Al CO, 3cuies & faw 1.5 Al O, &l
39T Bl &7

1. O, @Ear 18% o &IT AT
2. O, "igdr 15% &I X Sraefr
3. O, "igdr12% 1 @O Sraefr
4

. O, 9Igdr &l deelid qEIse el BIemm

f&l
A2
A3
jA4

Objective Question
146 707226 . 4.0
Density of a seawater parcel

A. increases if freshwater is added
B. Increases if strong winds cool it
C. Increases if it is moved from surface to 2500 m depth

Choose the correct option

1. Aand B are incorrect, C is correct
2. Aand C are incorrect, B is correct
3. Ais correct, B and C are incorrect
4. Ais incorrect, B and C are correct
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Teh FHE ST WS FT Gedcd

A. I #S el &1 THemar s ar agem

B. Ife Aot gard S8 33T Sel Al Feam

C. If¢ 38 Ade & 2500 m 3EE W o ST IRAT Al Fealm
Tel fashed @1 T4

ATaBIed &5, CHEN &
ATa CIed ¢, BHAGT &
AEE & BTd Caed &
ATed 8, BTaCHE &

= B =

Objective Question
147 707227 . . . 4.0
Many deep-sea benthic animals produce meroplanktonic larvae

because

1. they can access food from both the water column and sediment

2. the overlying water provides more oxygen compared to the
sediment

3. living in the water column minimizes the competition for food with
other benthic animals

4. living in the water column enhances their chances of dispersal with
water currents
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F5 M-AHg fAdereer gl Ry a1 1 3cufed = 2,
ERINIED

1. @ ST TAsT UG 3aHIG, gl d HiSled Uit Y Tehod ¢

2. 3qEe &1 Jolell # I AT ST ST JAFasTeT Hedl Il
gl

3. 5T T H U9 g ¥ 3T Ageey uofiat & ary siisa f
TqeT H FHAT AT ¢

4. 3o T H YaF 8l & Saish ofl ORT & I dEg &
THTGATHT T FETd &

Al
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Objective Question
148 707228 4.0

What is the Form Ratio of oceanic tides with a diurnal principal
delineation tide = 0.2m, diurnal principal lunar tide = 0.6m, semidiurnal
principal lunar tide = 1.3m and semidiurnal principal solar tide = 0.8m?

1. 1.26
2. 0.82
3. 012
4. 0.38

¢fas yueT AF9oT SaR = 0.2m, A% 9Ue deg SR = 0.6m,
eNETAF YU Tog SaR = 1.3m U9 39S vara 8§ saR = 0.8m

arel HAG SaRT T 3Tehid 3PqATd gIarr?

1.26
0.82
0.12
0.38

el o

Al
1

A2,
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Objective Question
149 707229 ] ] ] ] 4.0
In two coastal upwelling regions (P & Q) the primary production rates

are 40 mg C m-3*h-'and 5 mg C m-3h-", but phytoplankton standing
stock was the same (2 mg m=). Which of the following phytoplankton
bloom stages represent P & Q7?7

1. ‘P’ represents senescence phase with high nutrients, ‘Q’ represents
exponential phase with high nutrients

2. ‘P’ represents exponential phase with high nutrients, ‘Q’ represents
senescence phase with low nutrients.

3. ‘P’ represents exponential phase with low nutrients, ‘Q’ represents
senescence phase with high nutrients.

4. ‘P’ represents senescence phase with low nutrients, ‘Q’ represents
exponential phase with high nutrients.

al dérT 3cEaaur &Ft (P ug Q) # urafdAs 3cured &y Hasr: 40 mg
Cm2h-' vd 5mg Cm-2h-' §| W Ueycerds E2R ISR FAH

(2 mg m?) 7| gIH | Fled GeUTeldh Uhoold @O P U & Q
gfafaferca $EEr?

1. ‘P’ 3= QI9ehi & @Y SI0Tdar =ROT HI U9 ‘Q’ 3= GVl & A1
TRETADT TWOT HT Tfafieed o &

2. ‘P’ 3Tg YNl & A WEERN TWOT & Tq ‘Q e givenr
& gy fSoTar =RoT &1 ufafaftcg axa &

3. ‘P 5T divel & T IR TOT & TF ‘Q 3= GI¥ehi
& grer fSoTar @wor # ufafafecs &a &

4. “P faest divent & @1 fSoTdr =RoT &I U9 ‘Q 3T i & @re
TP TOT HT Tfafaiticd HId &

Al
A2

A3 5

3
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Objective Question
IS(J) 707230 4.0
In the diagram below the dashed line represents the euphotic depth

and the solid line indicates the mixed layer depth. Which of the
following represents the strongest and weakest wind stress condition?

7 o |

o
g [ =

Choose the correct option
1. Aand C
2. Aand D
3. Cand D
4 BandC

A e I T A 3add 3@ USRI e T Held @1 AET
Wd Es H AfafAted sd €1 ST ¥ FleT FHAT FIH FHoled
dgT Y FAGAR dg Yideel ITEAT FT JfAfAfed Fd 82

4 ] B
|

1. AtaC

2. AtaD

3. CwdD

4. BuaC

Al

1
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A2

A3

A4
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